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22 A cycle race across America is 3069.25 miles in length

verage speed for his previous races is 15.12 miles per hour,
across America he will cyele for 8 hours per day

Juan knows his
For the next ra

(a) Estimate how many days Juan will take to complete the race.

Juan trains for the race.
The average speed he can cycle at increases
Itis now 16.27 miles per hour

(b) How does this affect your answer to part (a)?

(Total for Question 22 is 4 marks)
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10 Bronwin works in a restaurant.

The table gives her rates of pay.

Day Rate of pay

Monday to Friday £8.40 per hour

Weekend £11.20 per hour

Bronwin worked for a total of 20 hours last week.
She worked 8 of these 20 hours at the weckend.

Show that Bronwin was paid less than £200 last wecek.

(Total for Question 10 is 3 marks)



